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Figure 1: GaAsO0 00000 (WikipediaO O O O “Gallium arsenide”’0000000)
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Ek-(112)  gk+(1/2)

Figure 21: 00O 200000000000 0OOOO

gbbbooobbdooobbbooobbbooobbooobbbooanbobn
O0000000000000000 (13.23)0(13249)000000000000000O

0 10 o
Inte) = -2 -~ H, ) (13.27)
g\ = it Ox - e ) '

Ub00z=00000000000 /0000000O00O00DO0O0O0ODOODOODOOO
gobboobbouuoooobbbbe=00000000000000000 €4
pw00000000000000000O0d=1//p0000000O0ODODOODODOOO
goooo

H(t,x =0) = Hycos(wt), E(t,x =0) = Eycos(wt), (13.28)
Ey 1
Hy = o Iy =€eE; + ﬁHg. (13.29)

0 (13.26)0(1327)0000000000000000000000000 (4,2)00

1 1 1

61



HRERERE . 5 . .
0, §Aa:, Az, iA:c, 2Ax, ..., (n — §)AI, nAz, (n + i)AI, (13.31)

O0000000(1/2)At0(1/2)Az00000000000000000O0O 20021000
00000000 E(t,x)DH(t,z)00t00000 20000000000000000
gbooogog

O (13.26)0 (13.27)0 0000000000000

E[EkJr((l//Q)) - Ek+((1//2))] = c Ar [Hk-i-l Hyl
Q n+(1/2 n—(1/2
- f[Ek+ Gfn + B (1332)
1 n . 11 n—(1/2 n—(1/2
E[Hk — Hy 1] = qu [Ek+ (1//2)) - Ek—((l//Z))]
_W[HI? + E,?*l], (13.33)
ogoogo (13.32)D(13.33)DDDDDDDDDDD
ﬂmm_(i+(¥p(1 @>Eum 1wn—m]mw)
k+(1/2) At 2\/@ At 2\/— +(1/2) eAr k+1 kll> .
1 « 1 «
Hr — a R T A Hn—l
b <At * 2./e,u) [(At 21/eu) F
1 n—(1/2 n—(1/2
_m[EkJr((l//?)) - Ek((l//Z))]] (13-35)

D00000000000000E;{/;0H00000000000000
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